ANSWERS ARE ADDED AT THE BOTTOM.
Students should be able to answer these questions.  You are likely to see questions like these on the next examination.

Students should also answer draw diagrams with demand curves and supply curves that differ in elasticity.  That is draw steep curves reflecting demand and supply that are unresponsive to price, that is inelastic.  Then draw curves reflecting demand and supply that are responsive to price, that is elastic.  This exercise will give you a sense of the impact of elasticity on changes in price and quantity.  You will also see how differences in elasticity influence the impact of taxes and price ceilings and floors.

For questions 1 to 4 you should draw a supply and demand curve for the Market – for example, for turkey.  Then you should show the impact of the Change on the equilibrium price and quantity. So in Question 1 you must show the impact of an increase in the cost of turkey feed on the market for turkey.

For question 5 to 8 you must show the impact of the government regulation on the market.

	1. 
	

	Market
	Change

	Turkey
	The cost of turkey feed increases


	2. 
	

	Market
	Change

	Butter
	The price of margarine rises.


	3. 
	

	Market
	Change

	Beef
	The wages of farm workers rise.


	4. 
	

	Market
	Change

	Tea
	The cost of sugar rises


	5. 
	

	Market
	Change

	Housing
	Government imposes an effective rent ceiling


	6. 
	

	Market
	Change

	Beef
	Government imposes an effective price floor


	7. 
	

	Market
	Change

	Beer
	Government raises the tax per case $3.00


	1. 
	

	Market
	Change

	Turkey
	The cost of turkey feed increases
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Turkey feed is a cost of producing turkeys.  When the price of turkey feed rises, turkey farmers require a higher price to be willing to supply the same quantity of turkey to the market.  Or at each price, they will want to supply fewer turkeys to the market.  The shift up and in of the supply curve represents this change.  The result is that the equilibrium price in the market rises, and the equilibrium quantity falls.  

Note that as the price rises, people agree to buy less turkey, but this change occurs as a movement along the demand curve. As always, as the price rises the quantity demanded falls.  People are willing to buy the same quantity of turkey at every price, but if the price is higher, then they will buy less. 

	2. 
	

	Market
	Change

	Butter
	The price of margarine rises.
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Margarine is a close substitute for butter.  When the price of margarine rises, many people will decide to consume butter instead of margarine.  As a result, the quantity of butter people will buy increases at every price, and the demand curve for butter shifts out.  The result is a higher equilibrium price and a larger equilibrium quantity.  

As the market price rises, farmers and dairies will be willing to increase the quantity of butter that they supply.  Output will expand along the supply curve.  It is the rising price of butter that makes farmers willing to produce more.

	3. 
	

	Market
	Change

	Beef
	The wages of farm workers rise.


The economic analysis of this case is exactly the same as when the price of turkey feed increased in the first example.  Farm workers’ wages are a cost of producing beef.  When wages rise, beef farmers require a higher price to be willing to supply the same quantity of beef to the market.  Or at each price, they will want to supply less beef to the market.  The shift up and in of the supply curve represents this change.  The result is that the equilibrium price in the market rises, and the equilibrium quantity falls.  

Again, the rise in price results in a movement along the demand curve, as people choose to buy less beef in response to the rising price.  Note that we do not assume that the rise in wages results in an increase in income that would shift the demand curve. The ceteris paribus (other things being equal) assumption allows us to do this.  We assume that wages of a small part of the labour force (farm workers) can rise without having a significant impact on the demand curve.  This assumption is reasonable and will not mislead us, so long as the wages increase for only a small part of the market.  (A tiny shift out in demand due to a few workers having higher incomes would not offset the large impact of the increase in their wages on the cost of production.)
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Sugar is a complement of tea; many people like sugar in their tea.  As a result, if the price of sugar rises, the cost of a cup of tea will increase even though the price of tea hasn’t changed.  So, people will consume less tea at every price.  As a result the demand curve shifts in.  As the price falls, the quantity supplied will decline by moving along the supply curve.  
(Now, I admit, this may not be a great example – I’m not sure how big an impact the price of sugar would have on the demand for tea – but your job on an examination is to show that you understand the economic concepts being tested.)  

How big the shift is refers to the cross elasticity of demand between sugar and tea.  You should think about the sign and perhaps the size of the coefficient of cross elasticity in this case, and in the butter/margarine example above.    
Link to answer re cross elasticity of demand.

	5. 
	

	Market
	Change

	Housing
	Government imposes an effective rent ceiling
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An effective rent ceiling prevents the price from rising to the equilibrium.  As a result, the quantity of housing demanded exceeds the quantity of housing supplied.  Some people can’t find housing.  A dead weight loss results for those units between Qs and Qe.  The amount people are willing to pay (see the demand curve) exceeds the minimum price landlords would accept in rent for those units, but they cannot be rented because of the rent control.

The Consumers who have housing (from the origin to Qs) benefit from the rent controls.  Their consumer surplus is increased by the dark blue rectangle.  They are gaining from rents lower than the market would dictate without rent controls. Landlords lose  the dark blue rectangle as a result of the rent controls that force the price below equilibrium.  

The demand curve indicates that consumers would be willing to pay P* to get an apartment when no more housing than Qs is available. Landlord’s sometimes demand ‘key money’ or payment for furnishings as a way to take advantage of this willingness to pay.  Renters agree in order to obtain an apartment.  Landlord’s can also discriminate among potential tenants since many people are willing to rent each apartment.
Note that if the rent ceiling were above the equilibrium it would be ineffective.  Price would rise to the equilibrium and stop before it hit the ceiling.  

You should try drawing this diagram with different steepness of demand and supply curves.  In the short-run, both the demand and the supply for housing is very inelastic. People need housing even as the price rises, and landlord’s have a fixed stock of housing to let.  As a result a shift in demand or supply causes a very large change in price with a small change in quantity.  Draw the diagram with very steep curves and see that the price reduction is large and the shortage is small.
Because demand and supply are inelastic in the short-run, rent controls cause a big drop in price but only a small shortage when they are initially introduced.  However, with time both demand and supply become more elastic.  People can choose to move to an area or can decide to leave their parent’s home.  Landlord’s can decide to build new housing.  They also have an incentive to neglect maintenance of their housing, since people are willing to rent it even if it is in poor repair.  Often when rent controls are introduced owners decide to convert rental accommodation to condominiums for sale.  So in the long-run the curves become more elastic.  More people wish to rent housing, and less housing is available.  A policy that initially seems to create only a small  inconvenience in terms of shortage in return for a large reduction in rent ultimately makes housing far more difficult for people to obtain.  Because poor people always have fewer alternatives than rich people, they are likely to be hurt most.  Draw the diagram with fairly flat curves and see that the price reduction is small and the shortage is large.
6. 

Market
Change

Beef
Government imposes an effective price floor
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(See colour code for rent controls to interpret the areas.)  The dark blue rectangle is surplus transferred from the consumer to the producer in this case.

An effective price floor prevents the price from falling through the floor to the equilibrium.  As a result the quantity supplied is greater than the quantity demanded and a surplus results.  When price ceilings were used in agriculture, governments had to buy up the surpluses of agricultural products such as beef in order to maintain the price above equilibrium.  Again the surplus will be smaller in the short-run when supply and demand are less elastic, but the surplus will grow as supply and demand become more elastic with time.  
7. 

Market
Change

Beer
Government raises the tax per case $3.00
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When the tax is increased, firms wish to pass the tax on to consumers.  However, when the price rises $3.00, the quantity demanded falls.  As a result the tax results in a new equilibrium price that is higher than the original price, but not as high as the original price plus $3.00.  So far, the analysis is just like any increase in the cost of producing the good.  BUT the firm does not receive the price the consumer pays, Ptax.  The firm still has to pass $3.00 per case on the government.  In this case, both the consumers and the producers surpluses are reduced (they aren’t shown here).  A deadweight loss results, as usual when price doesn’t reach equilibrium.  
But if the tax represents a real cost of producing or using the good that isn’t paid by the producer or the consumer the result may be efficient.  For example, the province first imposed a gas tax to finance road construction and maintenance.  Drivers do not pay for the wear and tear they cause on the road.  A tax on gasoline is a way to make them pay for those costs.  If the tax is set at the right level (A neat trick!) Stax reflects the true cost of using gasoline, and at Qtax people’s willingness to pay for gasoline reflects the true cost of using it.  In the case of beer, we might argue that the tax reflects the social costs of drinking.  Of course, it may just be a way for the government to collect some money, but perhaps voters have accepted high taxes on alcohol because they think the quantity drunk should be reduced.  

Again, try drawing this diagram with a flatter supply curve (more elastic) and a steeper demand curve (less elastic) and see how much the price changes and whether the suppler or the demander pays more of it.  Note that it ‘pays to be elastic’.  In the example here, the curves are equally steep, so the tax is evenly shared between the two.  
